AREEFFRELREAREBFEASREEERLETESRBR BE - EAEMR 6. 15~6. 18

£ eS| B JEfr K % g FE #A %E E%% ?&%

= o JBAL | & FOER JNBAL| & FOER [[=Civa
£ 100m 1 BEH BA STHGE 3 6.16 " DNS ” g
% 100m 2 BA =X peeEil 3 6.16 +03 10” 84 1|-1.8 11" 03 5 "
% 100m 3 = OEH AR 2 6.16 -04 10” 8 3/-1.8 11" 00 3[-15 10" 98 7
% 100m 4 HE EN aF 3 6.16 +04 107 95 2|-1.8 11" 04 6 "
B 100m 5 IR —iE 3T HHT 3 6.16 -0.4 10" 77 1] -05 10 " 80 1| -15 10" 8 1
% 100m 6 ZFE & AT 3 6.16 +1.0 10”791 2[-056 10" 92 3|-15 10" 92 6
% 200m 1 BEH BA STHGE 3 6.17 -19 217 93 1 +02 21" 26 1
g% 200m 2 BA =X el 3 6.17 -05 217 99 2 217 77 6
g% 200m 3 [P RE 3 6.17 -05 217 84 1 217 69 4
% 200m 4 BEOEH [ 2 6.17 -05 227 58 6 g
% 200m 5 HE EN aF 3 6.17 -05 22704 3 217 76 5
% 200m 6 NR O HESe %o 3 6.17 -05 227 11 3 217 80 8
5 400m 1 HE BER JIIHEE 2 6.15 487 86 3 48" 67 5
8 400m 2 #ZH R Naaz 3 6.15 48 7 39 1 47 7 91 1
£ 400m 3 * BABE WA 3 6.15 497" 70 3 "
£ 400m 4 EE B AT 3 6.15 49 " 85 4 "
£ 400m 5 B BRE namaz 3 6.15 487 65 1 48" 56 4
£ 400m 6 e S B 3 6.15 497 09 4 "
% 800m 1 s5—F% HE ST T 3 6.17 1’' 55" 75 2 1’ 54" 53 6
% 800m 2 N B namaz 3 6.17 1’ 53" 34 2 1’ 53" 33 4
% 800m 3 ¥ RE By 3 6.17 1’ 56" 96 6 : "
B 800m 4 BREH  Est EAR 3 6.17 1" 577 52 7 ' "
% 800m 5 HH —% By 3 6.17 2’ 05” 08 8 : "
% 800m 6 BB RKRER  MHGRE 2 6.17 1’ 54" 30 1 1’ 53" 10 2
g 1500m 1 s5—F% =X ST T 3 6.15 3’ 55" 55 5 4' 07" 40 11
g% 1500m 2 T B3} S AT 3 6.15 3’ 58” 87 6 : "
5 1500m 3 R Be ARAL 3 6.15 3° 59”7 71 10 ’ "
5 1500m 4 BRE st & 3 6.15 4’ 107 96 11 ’ "
5 1500m 5 AtE EBAE EZ 2 6.15 3° 55”7 8 6 4’ 127 18 12
5 1500m 6 g Kt AEH 3 6.15 4° 00" 80 9 ’ g
5 5000m 1 AE #; BER 2 6.16 14° 18" 26 2
8 5000m 2 =5~ 5 E R 3 6.16 147 28”7 59 11
5 5000m 3 EZ e TeRkfEsR 2 6.16 147 26”7 13 10
2 5000m 4 ARHE 1&A BER 3 6.16 14’ 50”7 29 17
8 5000m 5 N\ B4z EEE 3 6.16 147 33”7 14 13
5 5000m 6 Ik = TERRfER 3 6.16 147 29”7 12 12
5  110mH 1 ARE #N FLE 3 6.18 -0.8 157 14 1|+19 14" 98 2(+12 14" 87 3
82  110mH 2 BE SR bV 2 6.18 -0.9 15”7 52 4| 0.0 15" 46 6 "
%  110mH 3 NI N £ 3 6.18 -12 15" 49 3(+19 15" 31 5 "
£  110mH 4 H# Bt REH 2 6.18 -0.8 15" 61 3] 0.0 15" 58 7 "
£  110mH 5 BE BE AT 3 6.18 -1.2 15" 58 4/ +19 15" 10 3 15" 26 8
%  110mH 6 E21 NIEZ &5 8% 1 6.18 -09 15" 8 5 ’ "
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I R JERT 2 % JEAT |2 % JERT
5 400mH 1 NE thisl AR 3 6.16 54" 80 2 59”7 48 8
5 400mH 2 VN5 N 20 3 6.16 54" 35 2 53”7 75 4
5 400mH 3 iR B AEHE 3 6.16 54" 48 3 54”7 10 5
8 400mH 4 A RBZ A 3 6.16 577 11 7
5 400mH 5 KR OFE A= 3 6.16 54 " 28 1 537 21 2
8  400mH 6 =t =i& KE 3 6.16 56 7 01 6
5 3000mSC 1 ®F BRE bVl 3 6.17 9’ 44" 54 8
8 3000mSC 2 Him ERAERS 3 6.17 9’ 55”7 29 12
5 3000mSC 3 IR #F AR 3 6.18 9’ 25" 87 7T R6.18 9’ 23”7 95 10
£ 3000mSC 4 e ok 3 6.17 9’ 43" 71 6
8 3000mSC 5 BA EzE  REgE 3 6.18 9’ 21”7 15 3 9’ 09" 70 7
8 3000mSC 6 BEE EX HHE=E 3 6.18 9’ 34”7 62 3 9’ 30" 58 11
%  5000mW 1 Dirs =] 3 6.17 217 36" 77 1
5  5000mW 2 BE = BiHEE 3 6.17 22’ 57" 31 6
5  5000mW 3 INCT e A 3 6.17 237 08” 10 8
%  5000mW 4 g Bt PR 2 6.17 22’ 227 91 5
B  4x100mR 1 BT EE 6.15 40 " 90 1| (HcEE E(2) - BAIER —HE(3) - BEH MA(3) - KEZE(1)
8 4x100mR 2 St 6.15 417 21 2| GRHR BRE(2) - R E(3) - EE BRG) - NR HEE(3))
8 4x100mR 3 ARAL 6.15 41" 64 2| (EEFRE) - =4 EHQ) - 5 KE(3) - FKE BIEQ)
8 4x100mR 4 REHE 6.15 417 65 2| (hif 5E(3) - #BR HE(3) - ek @2 (3) - A FHE(2)
8 4x100mR 5 ¥ 6.15 417 96 3|CIEEHQ) - Ml EFQ) - &5 ER(Q) - BE FNQ)
8 4x100mR 6 Ho% 6.15 42 7 11 4| (RASESE(3) - A BE(3) - I3 E2H(2) - M1 EK(3))
8 4x100mR REE ILHHTIEE 6.16 40 7 93 1|(E£REEFE(2) - FIER —B(3) - BEFH HBA3) - KAZE()
5 4x100mR RE BER 6.16 417 32 3| (RHR BRE(R) - R E) - BB BRG) - MR HE(3)
5 4x100mR RE FRAL 6.16 41" 59 4| (EEFRE) - =4 EHQ) - 5 KE(3) - FKE BIEQ)
5 4x100mR RE REHE 6.16 417 70 5| (hi5E3) - 2R HEG) - kR REG) - EA FHE(2)
5 4x100mR RE BF 6.16 417 89  7|CIEEHQ) - Ml EF(Q) - &5 ER(Q) - BE FAEQ)
5 4x400mR 1 STHGRE 6.17 3' 17" 33 3| (BE RABB(Q) - FIE —iE(3) - {8k H(2) - BEH BA®)
8 4x400mR 2 AL 6.17 3 167 95  1|(BsEEQ) - LOEREQ2) - HEB EEQ2) - 20 FE3))
8 4x400mR 3 ARAL 6.17 3" 177 17 1| (PR EEG) - BE BEG) - B FUKS) - IEE BI5(3)
%  4x400mR 4 AEER 6.17 3' 20" 63 5|(FaEMQ) - BEERO) - #KBEE) - ALT T TE)
8 4x400mR 5 NEEE 6.17 3" 17" 77 2|UBEEAGE) - HE EHQ) - kB HEEQ) - thE BRQ)
8 4x400mR 6 BER 6.17 3' 20" 06 4| o) - 4B EHEQ) - MR HELG) - BiE BE(3))
B 4x400mR  REE ST 6.18 37 167 12 2| (BUE KAER(Q2) - FIEE —HE(3) - 5 FE(2) - HRHF HA(3))
B 4x400mR kB JIIdmaz 6.18 3" 157 56 1| (B EEQB) - LOFEEER) - g AQ) - 2 5R(3))
5 4x400mR  REE FRAL 6.18 3' 177 09 7|(FEEE) - BE BEG) - B FUK) - IKE £I5(3))
5 4x400mR RE NEEE 6.18 37 167 84  A|(BEE}(Q) - FE BRI - kB EEQ) - #F BRQ)
5 EEk 1 il B EE 3 6.17 2mol 4
5 EEk 2 T ¥ NEE 3 6.17 2mo0l 3
5 EEk 3 B MR RE— 2 6.17 1m9 9
5 EEK 4 Fril s HE 3 6.17 2mo0l 5
5 EEK 5 AUl PR WIS 2 6.17 m NM
5 EEK 6 NE BB LA 2 6.17 1m85 20
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I R JERT 2 % JEAL | & % JEfZ
B Eaik 1 BAR EHR PE— 3 6.17 4m80 2
B Eaik 2 *&E A PE— 2 6.17 4m50 7
B Eaik 3 EE R EV)il=:) 3 6.17 4m30 12
B Eaik 4 =i B BARARE 3 6.17 4m20 14
B Eaik 5 A A 2 6.17 4m40 10
B Eaik 6 BAE AR T8 1 6.17 4m20 13
3 ETEBE 1 RE 174 FRZFEHRE 3 6.15 +0.4 6m99 6
3 ETRBE 2 wE A& =] 3 6.15 +0.3 7m35 1
3 ETRBE 3 IH #3 &F 2 6.15 +1.6 6m60 17
3 ETRBE 4 AR FEE Ee)=] 3 6.15 +1.9 6m85 10
5 EEBk 5 BRE HS RE— 3 6.15 0.0 6m50 20
3 ETRDE 6 mER & NS 2 6.15 +0.4 4m96 23
3 =Bk 1 rE 175 FREEBE 3 6.18 +0.3 14 m31 4
3 =Bk 2 B R =] 3 6.18 -1.1 13m56 11
3 =Bk 3 O N Ee)=] 3 6.18 +0.7 13m9%6 6
3 =Bk 4 B g 2 3 6.18 +0.9 13m43 13
3 =Bk 5 RE  $HE el 2 6.18 +0.2 13m70 8
5 =Bk 6 il B mtE 3 6.18 m  DNS
2 REAK 1 WE Bt S LHE 3 6.15 14mi43 3
5 i 2 AT BEE FE R 3 6.15 14m30 4
2 REAK 3 BE K& ARE 1 6.15 13m9 6
2 REAK 4 HE KE fichw ¢ 3 6.15 12m72 13
2 REAK 5 ME KiE HSEE 2 6.15 12m15 19
2 REAK 6 HI#F = Namaz 3 6.15 12m79 12
5 MEBE 1 WE Bt S L HE 3 6.18 41mo02 3
5 mEBE 2 RN ARE 3 6.18 37 m47 11
5 MEBE 3 B 5 HSEE 3 6.18 37m9% 9
5 Mg 4 EBA & ARG 3 6.18 39mo9 7
5 mEE 5 NHE =N Naaz 3 6.18 36 m41 16
5 mEE 6 H Rk DS 3 6.18 35m95 17
5 1 B0 OKEE AW 3 6.16 51m99 5
5 2 B 05 HEERE 3 6.16 55m88 2
5 3 EBAX &S ARA 3 6.16 56 m40 1
5 4 ME K HEERE 2 6.16 52m 9 4
g v 5 T Bk NI 3 6.16 51m 34 6
5 6 BH BX GNIE 3 6.16 44 m 08 17
B OvUE 1 E  AHE FE R 3 6.17 60m 92 3
5 helUE's 2 NE ER ARA 3 6.17 51 m63 14
B YR 3 RE R GNIE 3 6.17 55m 51 10
B OvUE 4 WF 1A AT 3 6.17 56m 60 8
5 helUE's 5 kB BAA PE— 3 6.17 53m 77 11
B YR 6 sl RER 3 6.17 62m59 2
5 \EHE 1 ®F Bt 2% 2 | 6.15~16 4789 & 6
5 \EHE 2 D N B 3 | 6.15~16 4981 & 4
5 \EHE 3 T Hth P IR 3 | 6.15~16 4588 &= 11
5 \EHE 4 WE st TE 3 | 6.15~16 4771 & 8

we 1 MBFE 411 811 nAawi 26,




BEREFERELGENREFEXRSREEEREBATRESHER BE - TS 6. 15~6. 18

W @B SIE K % FrE pe| #BA T %y&% ;_M%

& w5 JER|E =5 IER|E w5 B
Z 100m 1 HA —% BEH 2| 616 |+12 12715 1[-07 12" 20 33 127 21 1
Z 100m 2 B & BEH 1| 616 [+16 127 27 2|-12 127 43 33 12" 72 8
#Z 100m 3 B =4w  BERIE 3| 616 |+L1 12" 45 2[-12 12" 53 33 .
Z 100m 4 £ HE PNt 3| 616 |+16 127 11 1[-12 12" 25 33 127 46 4
Z 100m 5 TR TE—55U— KEH 2| 616 | +12 127 45 2[-07 12 " 50 33 12" 65 7
%Z 100m 6 Bl KB 2% 2| 616 |-05 12733 2[-07 12" 43 33 12" 62 6
%Z 200m 1 BHA —% BEH 2| 617 [ +04 247 88 1 13 247 74 1
Z 200m 2 £ HE PN=E 3| 617 [-09 257" 41 3 13 25" 54 7
%Z 200m 3 XE  HE BEH 1| 617 |09 257 26 2 13 25" 35 5
Z 200m 4 Ll XA R B 2| 617 | +04 25" 25 2 13 25" 35 6
% 200m 5 P B BEH 1| 617 |03 25735 2 13 257 34 4
Z 200m 6 B =4w BERIE 3| 617 [-03 25" 81 3 13 .
Z 400m 1 EE R 5 E 2 | 6.15 58" 19 1 57" 35 3
Z 400m 2 EHh BET  MOXER 2 | 6.15 56 " 84 1 56" 00 2
Z 400m 3 % k= 5 E 2 | 6.15 58" 28 2 57" 88 5
Z  400m 4 NEE E ERR bR 3| 6.15 17 00" 04 2 58" 15 6
Z 400m 5 EFRIR Ehe 2 | 6.15 " DNS "
Z 400m 6 B tiE 5 E 2 | 6.15 59" 51 4 "
%Z 800m 1 B B AT 3| 6.17 2" 15" 58 1 27117 12 1
Z 800m 2 A s EF 2 | 617 2" 167 22 1 2" 127 28 2
% 800m 3 BE Ex EEREA=Z 2 | 617 2" 167 31 2 2" 13" 16 4
%Z 800m 4 T Bk 2F 1| 617 2" 157 59 2 2" 127 93 3
% 800m 5 BB = 3| 617 2' 177 49 6 "
Z 800m 6 EE B 5 E 2 | 617 2" 16”7 66 1 2' 17" 54 8
Z 1500m 1 b P g 1| 616 4 417 64 3 smeis| 4 37" 46 8
Z 1500m 2 AR setE EF 2 | 6.16 4 337 73 3 47 337 48 3
Z 1500m 3 M B EF 3| 6.15 4° 347 26 3 4737790 9
% 1500m 4 ME  EHR 5 E 1| 615 4° 447 04 8 "
%Z 1500m 5 Hiy R GG 2 | 6.15 4° 447 55 9 "
Z 1500m 6 EA BT PRI 3| 6.15 4' 377 22 7 47 387 53 10
% 3000m 1 BE tiE KEHE 3| 6.18 9’ 357 06 3
% 3000m 2 SE BiE Ehe 3| 6.18 9’ 36" 23 6
% 3000m 3 B#E % INITE:S 3| 6.18 9’ 407 96 7
%Z 3000m 4 hIR B 8 3| 6.18 9’ 517 98 10
% 3000m 5 =M B EREA= 3| 618 10" 16" 54 20
% 3000m 6 EIR EE AR 3| 6.18 107 00" 61 15
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2§ sk IER|E 2 B w8 JEf
% 100mH 1 /JubE B’ EF 3| 618 |[-11 14" 44 1(-01 14" 31 1] -1.2 147" 46 5
% 100mH 2 X BE ATRAL 6.18 | -1.4 157 20 4[-01 14" 86 ’
% 100mH 3 ®F B EF 1| 618 |-23 15" 07 2[{+1.7 14" 38 3 15”7 01 8
% 100mH 4 &N = BER 3| 618 |[-0.8 147 55 2(-01 14" 40 2 147 37 4
% 100mH 5 RABR = £ 3| 618 |[-0.8 15" 12 3| +1.7 15" 00 8 ’
% 100mH 6 ETH iB¥ RNER 3| 618 |[-23 15" 09 3[-01 14”81 5 ’
% 400mH 1 BE MR EF 2 | 6.16 1° 037 25 1 1’ 02" 36 3
% 400mH 2 2R B4 SRS 3| 6.16 1' 04”25 3 1’ 03" 07 6
%  400mH 3 ZINTII= EFRF R 2 | 6.16 1' 03”59 2 1° 03”7 91 7
% 400mH 4 RKAR = £ 3| 6.16 1° 03”72 2 1’ 02”87 5
% 400mH 5 We BE T 3| 6.16 1° 07713 5 ”
% 400mH 6 ' AR & 3| 6.16 1’ 06" 15 ’
% 5000mW 1 WA HBRH  EB/L 3| 6.15 237 477 12 2
% 5000mW 2 B Ex AR 7 2 | 6.15 23’ 477 79 3
% 5000mW 3 R LR SEFHMER 2 | 6.15 257 01" 71 5
% 5000mW 4 WaR EE REE 3| 6.15 23 547" 21 4
%7 4x100mR 1 BER 6.15 46 7 43 1|(EE &) - #A —EQ) - AT BRQ) - B BEQ))
4 4x100mR 2 KEHE 6.15 A7 " 17 2| Gais BG) - BB BEQ) - £ HEQ) - ER FE—£35 Y —(2)
% 4x100mR 3 E R 6.15 47 7 81 2| (ZE &) - #i3 E5H(3) - NER EQ) - AL BEL3))
%7 4x100mR 4 TEmRfER 6.15 48 " 44 3| (hEEE3) - WE REQ) - )IE KA G) - 518 HRA0)
%z  4x100mR 5 8 6.15 48 " 66 3| (AT BAG) - LB EEG) - AENEEQE) - 28 BEQ)
% 4x100mR 6 Hoig 6.15 48 " 71 4| GEBEEQ) - th H0RQ) - NA BHKQ) - KB BRQ))
2 4x100mR  REE BER 6.16 46 7 37 1|(EE &) - #Ak —EQ) - AT BRQ) - B BEQ))
& 4x100mR REs PN 6.16 47 " 26 3|GEm EEG) - BB R - 20 HEE) B 7E—47U—(2)
Z  4x100mR  RBE E R 6.16 A7 7 37 A (ZE B&EQ) - #i3 E5H(3) - NER ES) - AL BEL3))
Z  4x100mR kB EAPS S 6.16 47 " 95 6| (FEEFQ) - #EFEQ) - )IERA®G) - #1% BHR1)
% 4x400mR 1 BER 6.17 3' 517 09 1| GEYTEEQ - BR BELTE) - AT HR1) - Bk KE(Q)
% 4x400mR 2 E R 6.17 37 557 10 3| (VI Q) - RAGR E) - IR BLTE(3) - NER E3))
Z  4x400mR 3 =R 6.17 37 547 Q7 2| GFHBBAG) - AR PLQ) - N AEEQ) - BE HFRQ)
%  4x400mR 4 S E B 6.17 37 56" 83 4| (k TEE) - M ERFO) - NE &< HQ) - Hh ARTQ)
Z  4x400mR 5 FREERE 6.17 47 007 76 4| EOHEQ - £BEFHQ) - A EEQ) - B BHEQ)
3 4x400mR 6 NS 6.17 37 597 24 4| (BA THE) - £ HEQ) - KB RBRQ) - E KEQG)
. 4x400mR  REE FER 6.18 [NarR 3 44 7 33 1| (GEERRE(QQ) - FH FRQ) - AT BRQ) - K Q)
. 4x400mR  REE E R 6.18 37 B4 42 6| (NI EHEQ) - RARR EI3) - VR BLTE() - NER E3))
. 4x400mR  REE gF 6.18 3’ 53" 11 4| GFAHBAG) - 2R PEQ) - B AEEQ) - BE Q)
Z  EEK 1 LWHE 274 N 3| 6.15 1me67 1
Z  EEK 2 HE Tk S HEF 3| 6.15 I1mb5 9
Z  EEK 3 RE & RER 3| 6.15 1m50 10
Z  EEK 4 EBE SR Az 3| 6.15 1mb8 5
Z  EEK 5 ST EFEZ 3| 6.15 1me6l 3
Z  EEK 6 R EHEF  BaxK 2 | 6.15 1mb8 7
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Al Eak> S - Livd )::) Eak> S V4 )::) SRk SR =Yivs
7 ek 1 RE H P~ 3| 6.16 3m50 6
7 EEk 2 R HETFT  TEHE 6.16 3m60 3
7 EEk 3 B FAT FE— 1| 6.16 3m50 5
7 Bk 4 SH O BE )5 3| 6.16 3mo00 9
7 ERD 1 DESVARNE E=El BER 3| 6.17 +0.7 5m75 2
7 ERD 2 e & BER 1| 617 +1.4 5m72 4
o EEE 3 e B4 By 3| 6.17 +0.9 5m36 14
o EEE 4 BR % BE 2 | 6.17 +0.8 5m38 13
7 ERD 5 NFT o EBER ] 2 | 6.17 -0.9 5md46 10
7 ERD 6 | = ] 2 | 6.17 +0.6 5m38 12
7 DBk 1 EL R SESS 3| 6.18 -03 11m69 3
7 =Bk 2 BT AX B 2| 6.18 0.0 11m79 2
7w DBk 3 (i (S BRAE 3| 6.18 0.0 11m35 6
z =Bk 4 N Fix NI 3| 6.18 +06 11 m83 1
Z  fahix 1 KEF  LfE AERA 3| 6.18 NGR 14 m42 1
7 R 2 RE FKR BERE 3| 6.18 12m63 3
z Rt 3 BH HAH ARA 3 6.18 11 m 89 7
7 R 4 AT AE 3| 6.18 11 m60 10
7 R 5 =58 @i JIA®IL 3| 6.18 10m86 14
z FaLR 6 fEiE B EF 2 | 6.18 10 m45 19
7 AEER 1 RE FKR fichw= 3| 6.16 40m99 2
z g 2 2% BN [icfn= 3 6.16 38 m 33 3
7 AEER 3 REF  £E BERE 3| 6.16 36m59 6
7 AEER 4 =58 i N@msz 3| 6.16 37m72 4
7 AEER 5 fiE BXK 2% 2 | 6.16 31m69 13
7 g 6 HE BEF AXER 3| 6.16 24 m69 23
R 1 BH HH ARA 3| 6.17 NGR 48 m28 1
o 2 RHE EE HEASEE 2 | 617 m NM
o 3 g HEASEE 3| 6.17 44m8 5
o 4 HH il HE 3| 6.17 41m39 7
7 Py 1 Bl 1EFR o 3| 6.15 42m80 7
z 'S 2 K *A RE— 2 | 6.15 35m80 16
z 'S 3 RE EE LA 2 | 6.15 34 m73 18
z 'S 4 HE HE ARA 1] 6.15 41m13 8
7 PYE 5 UN=T /N I ER 2 | 6.15 36 m49 15
L= Sl 4 6 N& HRFH ik 3| 6.15 32mb52 21
7 EEFR 1 BNl AR )] 3 |6.17~18 4270 = 2
. EEFR 2 WE 2% N 3 |6.17~18 3353 &= 14
7 LEHE 3 ma TR EPRFBr 3 [6.17~18 4132 & 5
. EEFR 4 RE EE RER 3 |6.17~18 3740 &= 9

wa M BEF 795 BRE 415
441 E¥F 394




